Al £ 0 & AHES & Al

PA AL
A 5l FU(2EL XL /+=XHH)

o2l AohA Al (Gt M)
S - B S(3H) - MRAY - BES ofl kot )l o tImE=T]
raf=; 38,634,686 36,884,237 1,750,449

= 2,100,000 2,100,000 0
= 6,240,570 6,010,570 230,000
= 855,000 60,000 795,000
Al 29,439,116 28,713,667 725,449
otd HUN(FELXAMNL/=XH) 13,074,488 12,862,483 212,000
=S 4,584,300 4,584,300 0
ES 30,000 0 30,000
Al 8,460,188 8,278,188 182,000
Aot EH 5,881,040 5,669,040 212,000
ES 30,000 0 30,000
Al 5,851,040 5,669,040 182,000
AGHE FHIAIY 2,092,000 2,010,000 82,000
ES 30,000 0 30,000
Al 2,062,000 2,010,000 52,000
401 Al HIZ S OHYI 2,092,000 2,010,000 82,000
ES 30,000 0 30,000
Al 2,062,000 2,010,000 52,000
01 Al 2,082,414 1,992,414 90,000
O¢SH Atz A AL &X
38 0 0 20,000 20,000
OSaE BARE AE2 22 A
& 119,100,000& 119,100 99,100 20,000
ES 20,000 0 20,000
Al 99,100 99,100 0
Otlds AI9d ohe 22
10,000,000 * 14! 10,000 0 10,000
= 10,000 0 10,000
Osds ADIE El 80,000,000& *14! 80,000 0 80,000
03 A& S CHYI 9,586 17,586 28,000
OA0tE FHIAY Al R0HYI
& & 9,586,000 9,586 17,586 /8,000
AGHE FH|(ME)(HEALY) 3,530,000 3,400,000 130,000
401 AlEHIZ 201 3,530,000 3,400,000 130,000
01 A=l 3,530,000 3,392,800 137,200
OgtE Aot FHI(MEAIY)
&3 1,730,000,000& 1,730,000 1,992,800 A262,800
B AGHE ZHI(MEAY)[2021F S
SH 1,4008H 2+ ] &3 1,800,000,000& 1,800,000 1,400,000 400,000
03 A2 CHYI 0 7,200 AT,200
Ogre AoHd FBI(MEAIY)
3& 03 0 7,200 AT7,200
SIBAIE EE(IELXGMNL/RNLLZAI) 14,984,441 14,476,941 507,500
= 2,100,000 2,100,000 0
= 1,336,270 1,106,270 230,000
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SA -3 SA(SAH) - MIRAY - B d Oll &k JN & A Hws2
% 280,000 60,000 220,000
Al 11,268, 171 11,210,671 57,500
Soma| et 5,898,342 5,385,842 507,500
2 2,100,000 2,100,000 0
= 1,336,270 1,106,270 230,000
kS 280,000 60,000 220,000
Al 2,177,072 2,119,572 57,500
S| R (B4R P A2 (HBAIY) 287,500 0 287,500
= 230,000 0 230,000
Al 57,500 0 57,500
401 AIEHI L2018 167,500 0 187,500
= 150,000 0 150,000
Al 37,500 0 37,500
01 Al 185,475 0 185,475
SN URINT B2 PESSAY
20,000,0002+8.92/100 19,784 0 19,784
= 16,000 16,000
Al 3,784 3,784
OSHS MZ2XT E42 TESEAY
20,000,00024%38.92/100 19,784 19,784
= 16,000 16,000
Al 3,784 3,784
OSHE SHNT B42 TX2HAY
20,000,00021+8.92/ 100 19,784 19,784
< 16,000 16,000
Al 3,784 3,784
O42P ZAXT E42 TESHAY
37,500,00024%38.92/100 37,09 37,09
= 30,000 30,000
Al 7,09 7,09
OS&E0 IIFXT E42 TX2HAY
30,000,00021+8.92/ 100 29,676 29,676
= 24,000 0 24,000
Al 5,676 0 5,676
OSHYP DINXIT E42 TESHAY
20,000,00024x38.92/100 19,784 19,784
= 16,000 16,000
Al 3,784 3,784
OHB 25XT 842 TXSSAY
20,000,00021+8.92/ 100 19,784 19,784
< 16,000 16,000
Al 3,784 3,784
OLe SEKIT 842 TESSAL
20,000,00024x38.92/100 19,784 19,784
= 16,000 16,000
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S - B - SR(3) - NRAY - BES Ofl ko ol ® o HmEST
Al 3,784 0 3,784
03 AIE S 0HHI 2,025 0 2,025
Of=2 FX=st AtY AIZR01LI
2,025,000 14 2,025 0 2,025
403 MR HMSAHEZ01 A 100,000 0 100,000
= 80,000 0 80,000
Al 20,000 0 20,000
02 B 2SHICHEH A2 X L EFALZ I 100,000 0 100,000
OzteH NEX T S22 FXSSHAIY
25,000,000& *14! 25,000 0 25,000
= 20,000 0 20,000
Al 5,000 5,000
O=Ftts 1K+ &2 FXSsHALY
25,000,000& *14! 25,000 25,000
= 20,000 20,000
Al 5,000 5,000
OFas 27 B2 FES3ALY
25,000,000 * 14! 25,000 25,000
= 20,000 20,000
Al 5,000 5,000
Odlfitts &2 FES3HALY
25,000,000& %14 25,000 0 25,000
= 20,000 0 20,000
Al 5,000 0 5,000
22 SIIBAIEZAI SEEXZEHWFAIY 280,000 60,000 220,000
= 280,000 60,000 220,000
401 AIEHIZ 28I 280,000 60,000 220,000
N 280,000 60,000 220,000
01 Al&Hl 276,976 59,352 217,624
Ostts x| 2FMLSA
20,000,000 *98.92/100 19,784 19,784
X 19,784 19,784
OActH HE47 2HEINL S AL
20,000,000 *98.92/100 19,784 19,784
x 19,784 19,784
OAetd 20|l 2tFHINE S A
20,000,000 *98.92/100 19,784 19,784
x 19,784 19,784
Os&Y M3l 22e| 2EINLSA
20,000,000 *38.92/100 19,784 19,784
x 19,784 19,784
O3tAH CHEOIS 21T NY S A
20,000,000 *38.92/100 19,784 19,784
x 19,784 19,784
O3AH NZOS 2L S A
20,000,000 *98.92/100 19,784 0 19,784
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SH9l: ALt

SA - BB CRI(SI) - NISAY - BaS 0l bt /- HlRE2
% 19,784 0 19,784
Osteel g2 RHWLTA
20,000, 0002!%98.92/ 100 19,784 19,784
x 19,784 19,784
Osteel Sxe| RHWLTA
20,000, 0002!%98.92/ 100 19,784 19,784
x 19,784 19,784
Osteel 0lF2l REWLTA
20,000, 00021 %98.92/ 100 19,784 19,784
x 19,784 19,784
Ostel Lizle| 2ENLBA
20,000, 00021 +98.92/ 100 19,784 19,784
x 19,784 19,784
O42te =22 REWLBA
20,000, 00021 +98.92/ 100 19,784 19,784
x 19,784 19,784
03 Al& =Tt 3,004 648 2,376
OATRS SIIPAIL SEEZDLA A
ALYl 2 3,024,0002 3,024 648 2,376
x 3,004 648 2,376
RN (RELKI L /XA LAl 10,199, 111 9,443,932 755,179
= 320,000 320,000 0
= 545,000 0 545,000
Al 9,334, 111 9,123,9% 210,179
ARD TN 10,199, 111 9,443,930 755,179
= 320,000 320,000 0
x 545,000 0 545,000
Al 9,334,111 9,123,9% 210,179
DS or2 I 2,112,787 2,084,000 28,787
401 AIBI K 2 THE] 2,112,787 2,084,000 28,787
01 Al 2,091,720 2,062,933 28,787
OnrSo2 MaHoly 2 22284
2% 150,000,0002! 150,000 100,000 50,000
OSYE 32 U2 012 &%
A% 0% 0 14,838 A14,838
OREE ©5 01292 R (F2R0)
A% 43,084,920% 43,085 49,460 £6,375
=2 Hu| 1,946,502 1,847,000 99,502
401 AIBI K2 THE] 1,946,502 1,847,000 99,502
01 Al 1,928,949 1,829,987 98,962
S2IH L WeHtY ¥ 2A2=R(FUE
) 2% 150,000,000%! 150,000 100,000 50,000
O=NE H20I2 52 F|
A% 19,286,002 19,286 19,784 ~498
Ot LIS =2 ST
20,000,0002138.92/ 100 19,784 0 19,784
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OstdH NZOIE =28 Z&
30,000,000 *98.92/100 29,676 0 29,676
03 AIE = CHHI 17,553 17,013 540
O=2 Ul g0
Z& 17,553,000 17,553 17,013 540
272 A4 El 3,816,890 3,755,000 61,890
401 AIEHIZ 2018 3,811,890 3,750,000 61,890
01 Al&HI 3,776,070 3,714,342 61,728
OLAZAIE THolUE ¥ 258
Z& 250,000,000 250,000 200,000 50,000
Osd3s el 11642 8 S0l =27
30,000,000 *38.92/100 29,676 0 29,676
OA2etH g9232] atelie &8 Jul(F2
E0d) Z2& 03 0 24,730 AN24,730
O=s xSt 2 S HA &1
28 03 0 14,838 214,838
Ootss A=02 EX4 uAl
Z2E 28,151,690& 28,152 29,676 A1,524
OREsS 91H122 =2 HE(F2UEN)
Z& 28,090,000 28,090 29,676 N1,586
OS¥ES 419 2 A= FJHISAHRIIHA]
25,000,000 *98.92/100 24,730 0 24,730
03 AIE = CHHI 35,820 35,658 162
OA7E AlE Zdl AIZ R0
2 & 35,820,000& 35,820 35,658 162
Ot=3l2 &Yl 1,230,000 1,210,000 20,000
402 QIZ2HRHE0IE 1,230,000 1,210,000 20,000
01 QIZFXHE AL B (R THE) 1,230,000 1,210,000 20,000
O=2=+s o2 ISz B
20,000,000& * 14! 20,000 0 20,000
22 XNGHY SEXHNFALY 755,000 210,000 545,000
A 545,000 0 545,000
Al 210,000 210,000 0
401 AIEHIZL 28I 755,000 210,000 545,000
= 545,000 0 545,000
Al 210,000 210,000 0
01 AlIZHI 755,000 210,000 545,000
Os&H g =2 JUI[UALE S Al
£] 30,000,000 * 14! 30,000 30,000
X 30,000 30,000
Oxcetd or2dFHl & =2 EIHNEXI(OHAL
2l 7-4) [0S A AL
20,000,000 * 14! 20,000 20,000
x 20,000 20,000
Oxctd or2dFH| & 42 EIHEXI(Sa
2l 196-1) [ClI S EE ALS]
20,000,000& *14! 20,000 0 20,000
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M- .. A2(3H) - MEAY - HES 0] AroH J 83 oA Hns2
= 20,000 20,000
OACIH SRIEF(24t2] 1074) [OIAHERIE
=3 20,000,000 * 14l 20,000 20,000
= 20,000 20,000
OACHH SZEE(SA 139)[0IAHRIE AR
| 20,000,000 * 14l 20,000 20,000
= 20,000 20,000
O3SIEE FOIHOAIL FHHIZAHEE 04t
OI2)[OIAERIA ALZ]
20,000,000 * 14l 20,000 20,000
= 20,000 20,000
O3tEH F0IHOIAlE HH|IZBAHE Z2l 5312
JOIAIERIE ALR] 10,000,000 * 14l 10,000 10,000
= 10,000 10,000
O3SIEM Z=0IEHOIAIA HH|ZAHZZ0OIS
SOICZ2)[MIANEEE AZ]
10,000,000 * 14l 10,000 10,000
= 10,000 10,000
OSAS 2 - Hi22 FH|(&E=22 27-6) [0
ASRIE AL 20,000,000 * 14l 20,000 20,000
= 20,000 20,000
OSAS - 22 FHI(H A2 1559) [0fl At
HEl® A2] 20,000,000 * 1Al 20,000 20,000
= 20,000 20,000
O24-= 42 MUI[UAERIE AIZ]
20,000,000 * 14l 20,000 20,000
= 20,000 20,000
oZals AF AX[0ASEE ALZ)
45,000,000 *14] 45,000 45,000
= 45,000 45,000
OBtEE HAHDSHE X2 TE[0A
HE® AIZ] 20,000,000 * 14! 20,000 20,000
= 20,000 20,000
OSHS A=ZAHUASLEE AL
20,000,000 * 14l 20,000 20,000
= 20,000 20,000
OztedH slse| s2 2 A5 TR (3=
SZ2)[0ASEEE AFEZ]
20,000,000 * 14l 20,000 20,000
= 20,000 20,000
O3tYH sl=e| =2 2 AdE LR(etEZ|
AZ)[MALBE ALR]
10,000,000 * 14l 10,000 10,000
= 10,000 10,000
OASE 2252 HUI[AMEEA AIE]
50,000,000 * 14l 50,000 50,000
= 50,000 50,000
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HH: XGINUAL(ZELX SN/ N SALEAI)
elr ARS X9ng (S &)
S - B S(3H) - MRAY - BES Ofl kot )l H o CImE==T}
O3IEH OXE HS0tS ot EZE[0lAS
EPSIUNE=] 30,000,000 * 14! 30,000 30,000
= 30,000 30,000
OsLg otAZ ZF(Zelits 32 2)[ol
MEEE ALZ] 20,000,000 *14! 20,000 20,000
X 20,000 20,000
OSAE otAZ ZE(MZXIT aiet =2)[
OISR ALE] 20,000,000 3 14| 20,000 20,000
EN 20,000 20,000
OSNE s28Y S L U7 BLI3AHZ
LIl SUOS)[0IAEEA ALE]
20,000,000 14| 20,000 20,000
EN 20,000 20,000
OSH8 s28Y 2 L U7 SLZAHH
sOtEor2) [HAMSEd ALE]
20,000,000 14| 20,000 20,000
B 20,000 20,000
Olins O2EH HE SM[HALA
AHE] 10,000,000 & 14| 10,000 10,000
B 10,000 10,000
Ot =2 ZAH 2 3H2H =2 HE3
HAMAH ZIOOS) [HAEEE ALS
20,000,000 & 14 20,000 20,000
B 20,000 20,000
O&HMH Hi=23AL 2 312 =2 WEs
HEHH LHEle] 718-1) [0l A E - A ALE]
20,000,000 * 14! 20,000 0 20,000
B 20,000 0 20,000
O0%=Al &3 Hil4=2 42X L ILXAIL
AR ZBAHLHRIAL) 10,000,000 14 10,000 0 10,000
X 10,000 0 10,000
HRES (AL (ZELX ML /RSLEAl) 275,770 0 275,770
BHXE 275,770 0 275,770
SNIE 275,770 0 275,770
802 Brat32J|Et 275,770 0 275,770
02 Al - SHIZEEZZEHEZ 275,770 0 275,770
02022 3~20234 ot& THIEXS 12,456 0 12,456
o ALS &R 9,441,600 14 9,442 0 9,442
<= 0| Xt 3,013, 1603 14! 3,014 0 3,014
O202HE Ol ARDXISINLAIS (F01=
2, THEXH) 263,314 0 263,314
SYNE= T 260,784,870 & x 14! 260,785 0 260,785
< 0| Xt 2,528, 1903 *14] 2,529 2,529




